Scatterplot of Saber Adj. R Squared vs Time 

 
Regression Analysis: Saber versus Time 

The regression equation is
Saber = 0.0170 + 0.0478 Time


Predictor     Coef  SE Coef     T      P    VIF
Constant   0.01700  0.09428  0.18  0.864
Time       0.04775  0.02108  2.27  0.073  1.000


S = 0.111553   R-Sq = 50.6%   R-Sq(adj) = 40.8%


Analysis of Variance

Source          DF       SS       MS     F      P
Regression       1  0.06384  0.06384  5.13  0.073
Residual Error   5  0.06222  0.01244
Total            6  0.12606



Regression Analysis: Old-School versus Time 

The regression equation is
Old-School = 0.304 + 0.0339 Time


Predictor     Coef  SE Coef     T      P    VIF
Constant    0.3043   0.1149  2.65  0.046
Time       0.03386  0.02570  1.32  0.245  1.000


S = 0.135987   R-Sq = 25.8%   R-Sq(adj) = 10.9%


Analysis of Variance

Source          DF       SS       MS     F      P
Regression       1  0.03210  0.03210  1.74  0.245
Residual Error   5  0.09246  0.01849
Total            6  0.12456


Regression Analysis: W versus Time 

The regression equation is
W = 20.9 - 1.33 Time


Predictor     Coef  SE Coef      T      P    VIF
Constant    20.889    3.568   5.85  0.002
Time       -1.3266   0.7979  -1.66  0.157  1.000


S = 4.22218   R-Sq = 35.6%   R-Sq(adj) = 22.7%


Analysis of Variance

Source          DF      SS     MS     F      P
Regression       1   49.27  49.27  2.76  0.157
Residual Error   5   89.13  17.83
Total            6  138.41


Regression Analysis: WAR versus Time 

The regression equation is
WAR = 25.7 - 0.79 Time


Predictor    Coef  SE Coef      T      P    VIF
Constant   25.705    9.029   2.85  0.036
Time       -0.790    2.019  -0.39  0.712  1.000


S = 10.6832   R-Sq = 3.0%   R-Sq(adj) = 0.0%


Analysis of Variance

Source          DF     SS     MS     F      P
Regression       1   17.5   17.5  0.15  0.712
Residual Error   5  570.7  114.1
Total            6  588.1


Unusual Observations

Obs  Time    WAR    Fit  SE Fit  Residual  St Resid
  7  1.00  40.63  24.92    7.28     15.71      2.01R

R denotes an observation with a large standardized residual.

